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Calculating :
M 490+30= @) 306+54= @ 230+370=
490 306 9230
+ 30 + 54 + 370
@ 475+52= ® 190+35= ® 307+38=
+ + +
@ 55-32= 39-14= © 98-38=
83-9292-= D 56-24-= @ 76-65-=
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Circle the answers :

D #MAHRE38ME > EHLHEE L6/ > EH4E 5 01E 2
There are 38 apples in a box. Lemons are 16 more than the apples. How many lemons
are there ?

A. 38+16=54 B. 38-16=22

@ %MNAEHRETHE i d 138 &4 50182
There are 75 apples in a box, which are 13 less than the oranges.
How many oranges are there ?

A. T75+13=88 B. 75-13=62

@ #mA #3448 > B 2 V1348 > skA 5 V1A 2
There are 34 pears in a box. Peaches are 13 fewer than the pears. How many
peaches are there ?

A. 34+13=4T7 B. 34-13=21

@ %A R3TE > 118> Rkt 5 51@ 2
There are 37 pears and 11 oranges in a box. How many more pears are there
than oranges ?

A. 37+11=48 B. 37-11=26

® #mALRO0ME AR 52018 > LR PHELLEA S 0@
There are 60 mangoes in a box, which are 20 more than the apples.
How many mangoes and apples are there altogether ?

A. 60+20+60=140 B. 60-20+60=100

® #MA EH60ME > KL BAh 52018 > Bl folst A % V@ ?
There are 60 grapefruits in a box. Oranges are 20 more than the grapefruits.
How many grapefruits and oranges are there in all ?

A. 60+20+60=140 B. 60-20+60=100
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